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- Jet’s say the number of men in the example above had been nin
rmfi F17 and the number of women was still 17. The mean recall ef
s1ed g dard deviations remain as given in the abstract. In that .

rdir:llzl + would have been calculated as follows: i
e
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This equation could also be used in situations where the group sizes are the
same. For instance, in the original example above with 17 in each group, we
found a #-value of 3.83 using the original formula and applying the formula
for here, we get 3.84, which is within one one-hundredth of the same result.
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Note that yet another equation must be used if the means being con

are for the same group of participants on two occasions asina comparisiared.
pre-test and post-test means. (Fora full explanation and example, s¢c H:to}t
and Lazaraton 1991). Notice also that there are now only 26 participa;tS
instead of 34, so a #-value of 3.84 may no longer be significant. Yoy migh

check Table 7.5 to find out.




